IPv6

IPv4
EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

1

1

no_dnssec_ltl:joznp_afi-v4-uDP_frag
V:

TIrrr TTTT

TTTT

TTTT TTTT

TTTT

TTTT TTTT

TTTT

IPv6 Dual-Stack
EDNS0:512 EDNSP:1232 EDNS):4096 _EDNS0:512 EDNS(:1232 EDNSP:4096  EDNS0:512 EDNSQ:1232 EDNS):4096
AN GULL LA D% | 407 G075
YLLL s (L LA | DL LA | Yl LA
AN VA AR AN R Y 2 AW )
VA AR e (/AW AR N/ A WL AR 4
LI07 2797 AW AR R W 7 A
2477 ///’/// ///’/// o //’/’/// Yl //’/’///
AN YL L | L1 L2l | Ll Yl /o7
VAV AR/ YLILIL | SILLIL s 0 LLIL | LIPS | 10/ H 12,
L9507 4497 DXL LD07 G400 | L7 0477
AR LSl | LS LAl | 2. Lt ss
AR UL | LSt DIl | L0 rs Y7
VA /AN i LLILIY | LIPS LS LA | YIS | 10l
ALRN | NNNN ANAN / AANN | ANANE | NONN | Sae
NN | QONNN ANINNNNEENNNENANEENANANN N BNNNEONANEINANNNNY
TONNN | NN\ NANN | ONNN | NN [ QNN NN
NONNN | NNNW NNNN | NONNN | ONXN | NN\ NN
/AW VAN AN N A B AN
ANNINENEENINANNNEE |11 B EENTONANNNNEINNNNONEENRNRNNNE BRNNNNRNEENIONNNGE [ [ ]
ANLNN | NN l l NNON | QNONN | NXNON [ SNNN [ NNSWR l l
NANNN | WNNN NN NN ANNNN BNNNTNRNEINANNNNY
SNNN | NONON | HEEE | XONNON | ONNN | XNON | O NNNN | NN\ | EEEE
TT T T T T T T TTT7T TT T T T T T T TT7T7T TT T T T T T T T 1717
SO0~ OO0~ O00~7 OO0~ O00~ OO0~ OO0~ o000~ ooo~
TIR TIM  TIN T[IR TIR  TIN TIIR TIM  TIN
S ® S ® S ® S ® S ® S ® S ® S ® S ®
Sz S3°  53° S3° 53 53° S3°  53° S3°
CZ C<3 CZs C<3 CZ> C<3 CZs C<3 CZs
38 ©S38 S38  SI8 SI8 SI8 SIS SIS o8
S S22 S S S 82 S g2 s
= = = = = = = = =
[ Cc [ Cc Cc Cc [ Cc [
S =) S A=) A =) > A=) S

T
<
N

500
1280 (PMTUD
1280 Eno PMTUD
Path 1280 (no PMTUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280

Path 1280 noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280

Path 1280 noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (no P

Path 1280 noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

100; X >Y
50

10
5

-50
-100; X <Y

lOg( | %nssets (X) - %nssets(Y) |)

fv)



